(marks 7)
4) :Consider the following data

i 2 3 9 9 4 5 6 6 7
9 8 8 7 2 0 6 0 6 4
2 4 0 5 5 6 7 6 6 8
9 8 8 7 7 3- J 4 6 4
2 4 1- 5 6 6 7 6 6 8
Then
a) Calculate the percentile P (mark 1)
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b) Calculate the decile D, (mark 1)
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¢) Calculate the quartllcs Q Q2 and Q, (marks 3)
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gecond Homework for 1018¢a,

(marks 2)
1) Write the name of the best measure of central tendency beside each of the following data sets (the

‘(observations have been arranged in ascending  order

(A 3 t 5 5 62 7 76 8 15 18 (no.2L......)

(B 9 ¢ 12 15 15 20 25 25 35 45 ! Lwonedain....)

(C 1- 3 4 7 2- 13 15 17 2 4 65 (.Mmedaiw....)

(D 39 33 34 27 25 31 35 37 37 44 45 (.vagaaa.....)
(marks 2)

2) Write the name of the best measure of dispersion beside cach of the following data sets (the

-(observations have been arranged in ascending order

i 3.8 & ® & 1 2 %€ 4 5 6 (IAR.....)
(B 5 ¢ 10 11 5 15 17 18 18 20 3 O O . 0 -

(C 19 12 13 13 15 16 16 20 21 21 22 (Siendey. Rekabion

@ 313, % 7 3 i A8 VR JE N 23 (Roung....)

(marks 9) .One degree of each calc_ulation-i- (3 marks) for the notice
3) Consider the following two data sets (note that each value of the second data set is obtained by multiplying

(the corresponding value of the first data set by 3
:Dataset X 3 6 9 12 15
:DatasetY 9 18 27 36 45

Then calculate the mean, standard deviation. standard score and the coefficient of variation for cach of

¢these two data sets. What do vou notics
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